
 

A group of 5 friends  
share a bag of sweets. 
 

 

 

They each receive 6 sweets and there 
are 3 left over. 

 

 

Two more friends arrive.   

They share the sweets again between all 
7 of them. 

(a) How many do they each receive? 

(b) How many are left over? 
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Mr Singh parks his car. 

 

 

Here are the charges. 

 

 

 

 

Mr Singh arrives at 10.45am 

He leaves the car park at 2.30pm 

How much did he pay to park? 
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White Rose Car Park 

First hour       £2.50 

Every additional 30 minutes (or less)   £1.80 


